8.1 Circles and Circumference p.318

Circle: set of all points in a plane that are the same distance
from the center

Radius: the distance from the center to any point on the circle
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Diameter: the distance across the circle through the center;
divides a circle in half

Chord: distance across the circle Tha‘r does not go through the
center
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Find the diameter and radius of each circle:
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3. The diameter of a circle is 18 ¢cm. Find the radius.

r=4cm

4. The radius of a circle is 7 yards. Find the diameter.
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Circumference: the distance around a circle (like the

perimeter of polygons)
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The circumference of a circle is
equal to pi (m) times the diamefter.

Pi is a ratio (represented by the Greek letter m) found by

dividing the circumference by the diameter of every circle.
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The value of 7 can be approximated as 3.14 or—.

We usually use 3.14 unless the diameter is divisible by 7

22
the diameter is divisible by 7, then use i

Find the circumference:
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Semicircle: one-half of a circle

diameter

To find the perimeter of a semicircular region:

1. Find the circumference of the circle and divide by 2
2. Add the diameter o that number for the total perimeter

EXOI’I’\plBZ The straight side is 6 meters long. The distance
around the curved part is one-half the
circumference of a circle with a diameter of 6 meters.
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ﬂ?d Divide the circumference by 2.
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=9.42 Simplify.

» So, the perimeter is about 6 + 9.42 = 15.42 meters.
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4. Find the circumference of both circles:
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